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syms x y t
f(x, ¥y) = xX*2 + x ¥y + yr2

6 y) = Y +xy+x°
xt(t) = t*3 + 1

xt(t) = 147
yt(t) = t72 + 1

yt(t) = 147
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fcontour(f, [-2 2])
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fplot([xt yt], [-1 1])
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ft(t) = f(xt(t), yt(t));
expand(ft)

ans(t) = 34343+ 4+ +1°

fplot(ft, [-1 1])
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tv = linspace(-1,1);

xtv = xt(tv);

ytv = yt(tv);

fcontour(f, [-2 2]); hold on
plot(xtv, ytv, "r"); hold off
xlim([-2 2])

ylim([-2 2])
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expand(diff(ft, t))

ans(t) = 6/4+9°7+42+5+67

A B Oy D ARUTHE > T ZEHA
dfdx(x, y) = diff(f,x)
dfdx(x, y) = y+2x

dfdy(x, y) = diff(f,y)

dfdy(x, y) = 2y+x

dfdt(t) = dfdx(xt(t), yt(t)) * diff(xt, t) + dfdy(xt(t), yt(t)) * diff(yt, t)

dfdt(t) = 2+ B+22+)+32 B+2+21)

expand(dfdt)

ans(t) = 61+9°7+4°2+5*+6¢
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1= 0.5 351F 2 ORI % e TR

fplot([ft(t) dfdt(@.5) * (t - ©.5) + ft(0.5)], [-1 1])
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C flx,y)=x+xy+y, x=1t+1, y=1+t

’ f(x,y)=§,x:l—2t, y=1+7¢

1"57'J2) (m,n) = (1,2) DI flg) =log(l—g%, glx,y) =x*+y*=2

1PN K B ERB
_ __ 2 __ 202+ -2) o AP+ =2 _ 4y + P =-2)
fufi] = illgn g, = — 255 p 23,2y = - == Ty 23,2y = [- =2 A To e 2)2]
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